HREX—TIK1 (A4 A

[MSFI2RH
SULSATERKE CGREAE KEHRBRERBREE GERE)
oK 8:30
KEHBHRE (BLIEKE HKHF (EK )
B Xz SE | KE | A& E pH |7ILAY | BE | &% |&EtY| & Ty | E E

E BEM | A4 Y

°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 7.0 11.3 10.5 7.80
2 & 4.0 10.2 18.5 1.7
3 & 3.5 10.2 6.0 7.95
4 i 7.0 10.4 4.1 7.88

5 = 6.0 10.7 21.8 7.92 58.8 | 81.4 201 8.9 [ 1.01 0.03
6 ) 9.5 9.7 34.7 7.88
7 & 7.0 11.1 1.5 8.05
8 & 5.0 10.9 10.8 7.94
9 B 6.0 10.9 1.6 7.90
10 i 6.5 11.1 1.9 8.01
11 = 10.5 11.1 5.3 8.03
12 5] 12.0 1.7 1.2 7.92
13 = 9.0 12.4 38.4 1.71
14 i 7.0 11.1 20.8 7.80
15 [55] 11.0 11.5 13.6 7.82
16 ) 19.5 12.8 106.0 7.84
17 & 11.5 11.8 762.0 7.93
18 & 2.0 8.6 132.0 7.83

19 = 5.0 7.9 29.3 71.81 51.8 | 70.8 175 6.0 | 1.36 0.04
20 ) 6.0 8.4 7.9 1.79
21 & 7.0 8.0 39.9 7.80
22 & -1.0 1.2 5.8 7.82
23 & -2.0 6.2 5.8 7.80
24 & 1.0 6.8 3.3 1.77
25 & 2.0 7.4 10.0 7.82
26 & 2.5 7.6 4.7 7.84
217 & 1.0 7.4 3.2 7.80
28 & 4.0 7.9 3.3 71.81
29 & 4.0 8.5 3.7 7.89
30 & 5.5 8.4 3.9 7.93
31 [55] 7.0 8.2 3.4 7.90

Ty 6.0 9.6 43.3 7. 86 55.3 | 76.1 188 7.5 1.18 0.04

== 19.5 12.8 762.0 8.05 58.8 | 81.4 201 8.9 1.36 0.04

=IE -2.0 6.2 3.2 1.1 51.8 | 70.8 175 6.0 | 1.01 0.03




HREX—TIK1 (A4 A

[MSFI2RH
ALSATERKE GREAE) KEHARBRBREE FEE)
oK 8:30
KEHBHRE (BLIEKE HKt CFK )
B Xz SE | KE | A& E pH |7ILAY | BE | &% |&EtY| & Ty | E E
E BEM | A4 Y
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 7.0 11.3 1.1 1.71

2 & 4.0 10.8 1.2 7.56

3 & 3.5 10.3 0.9 7.63

4 i 7.0 10.2 0.6 1.75

5 = 6.0 10.3 1.3 71.65 55.6 | 77.5 154 8.8 0.06 0. 02
6 ) 9.5 10.3 1.4 71.67

7 & 7.0 10.2 1.6 7.64

8 & 5.0 10.9 1.5 7.59

9 B 6.0 10.7 2.0 1.73

10 i 6.5 10.9 2.1 1.74

11 = 10.5 10.9 1.2 1.72

12 5] 12.0 11.4 1.3 7.89

13 = 9.0 12.2 1.8 1.52

14 i 7.0 11.9 1.5 1.70

15 [55] 11.0 11.6 1.1 1.71

16 ) 19.5 13.9 1.0 1.70

17 & 11.5 12.0 0.9 7.54

18 & 2.0 10.6 1.2 7.40

19 = 5.0 8.6 1.3 71.56 45.7 | 64.8 141 7.1 0.03 0. 02
20 ) 6.0 8.4 0.9 7.64

21 & 7.0 8.8 0.9 7.60

22 & -1.0 7.9 0.8 7.61

23 & -2.0 7.0 1.0 1.67

24 & 1.0 6.6 0.6 7.64

25 & 2.0 7.1 0.6 7.68

26 & 2.5 1.4 0.7 7.65

217 & 1.0 7.4 0.7 1.73

28 & 4.0 1.1 0.6 7.61

29 & 4.0 8.3 0.8 1.76

30 & 5.5 8.8 0.9 7.65

31 [55] 7.0 8.7 1.1 7.83
Ty 6.0 9.8 1.1 7. 66 50.6 | 71.2 148 8.0 0.04 0. 02
== 19.5 13.9 2.1 7.89 55.6 | 77.5 154 8.8 0.06 0. 02
=IE -2.0 6.6 0.6 71.40 45.7 | 64.8 141 7.1 0.03 0. 02




